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QUESTION 1
Refer to the exhibit.

How many services are seeded in the GAB port membership?

GAB status and membership notation

/”

# gabconfig -—-a
GAB Port Memberships

|

Port a gen f£f7c001 membership 01
Port b gen f7c004 membership 01
Port h gen f7c002 membership 01

)

i

My

A. The GAB port membership has two nodes: 1 and 2.

B. The GAB port membership has three nodes: 0, 1, and 12.
C. The GAB port membership has one node: 1.

D. The GAB port membership has four nodes: 0, 1, 21, and 22.

Correct Answer: D

QUESTION 2

The Oracle database administrator needs to shut down the Veritas Cluster Server (VCS) controlled database to apply
patches. The manual shutdown of the database may cause VCS to fail over the service group.

Which command can the administrator run to prevent VCS from responding to the intentional Oracle database
shutdown?

A. hagrp -flush

B. hagrp -freeze

C. hatype -freeze Oracle
D. hares -ignoreparent

Correct Answer: D
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QUESTION 3

Which capability is provided by Virtual Business Service (VBS)?

A. the ability to monitor and alert the administrator to service group faults based on priority

B. the ability to Start and Stop service groups in a pre-defined dependency order

C. the ability to collect cluster HostMonitor data and availability reporting

D. the ability to automatically move service groups to the disaster recovery site on production fault

Correct Answer: D

QUESTION 4

An administrator is bringing a service group online. One of the resources is remaining offline, and is shown in “waiting to
go online\\' state.

Which command should the administrator run to stop Veritas Cluster Server from attempting to bring the resource online
to troubleshoot the issue?

A. hares -clear

B. hares -offline

C. hagrp -clearadminwait group -sys system
D. hagrp -flush

Correct Answer: B

QUESTION 5

As part of the consolidation efforts in a data center, the administrator decides to merge two two-node Veritas Cluster
Server (VCS) clusters into a four-node VCS cluster. The source and target clusters are on the same networks for LLT
communication. The administrator performs the following task as preparation for the merge while both clusters are still
running:

1.

modifies /etc/llttab files on the source cluster systems so the cluster ID is changed to the cluster ID of the target cluster
2.

modifies /etc/lithosts files on all systems to include the four nodes

3.

modifies /etc/gabtab files on all systems to require four systems to seed

4,
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ensures the source cluster systems can see the fencing disks used by the target cluster

5.

copies the fencing configuration files from the target cluster systems to the source cluster systems

6.

adds the source cluster systems to the target cluster configuration using the hasys -add command

After the preparation is complete, the administrator stops the source cluster leaving the applications running, then stops
the whole communication stack and restarts it in the correct order. When the administrator attempts to start the cluster

again on the source cluster systems, they fail to join the four-node cluster.

Which preparation step that the administrator failed to perform is preventing the source cluster systems from joining the
four-node cluster?

A. The cluster needs to be manually seeded using gabconfig -x on the source cluster systems.
B. The target main.cf file needs to be copied to the source cluster systems.

C. The service group configuration of the source cluster needs to be applied to the target cluster.
D. The cluster UUID from the target cluster needs to be copied to the source cluster.

Correct Answer: D

QUESTION 6

Which command should an administrator use to verify the values of AutoStartList attributes for service group SG1?
A. hagrp -list SG1 AutoStartList

B. hagrp -display SG1 -attribute AutoStartList

C. hagrp -display SG1 -value AutoStartList

D. hagrp -value SG1 -localclus

Correct Answer: B

QUESTION 7

Which type of VMware disks are supported for SCSI-3 disk-based I/O fencing in a VMware in-guest cluster?
A. raw device mapping with virtual compatibility mode

B. raw device mapping with physical compatibility mode

C. virtual machine disks (vmdk) with physical compatibility mode

D. virtual machine disks (vmdk) from a VMFS datastore
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Correct Answer: D

QUESTION 8

Which action should an administrator perform prior to removing a resource named webdg from a running service
group?

A. take the service group offline

B. take all parent resources of webdg offline
C. take all child resources of webdg offline
D. remove all parent resources of webdg

Correct Answer: B

QUESTION 9

An administrator wants to deploy a complex cluster configuration that will include over six nodes, I/0 fencing, and
multiple private cluster interconnections.

Which method will help the administrator to implement rapid cluster deployment?

A. prepare a custom main.cf file using the sample template files and copy the file to all cluster nodes

B. generate a custom installation script using the Veritas Services and Operations Readiness Tools (SORT) website
C. prepare a custom response file in Veritas InfoScale Operations Manager (VIOM) and push it out to the new cluster
D. prepare a custom response file to build the new cluster configuration using /opt/VRTS/install/installer

Correct Answer: D

QUESTION 10

For which two virtual machine types does Veritas Cluster Server provide agents? (Choose two.)
A. IBM LPAR

B. Citrix Xen

C. Oracle Virtual Machines (OVM) for SPARC

D. Oracle Virtual Box

E. HP nPARs

Correct Answer: AB
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QUESTION 11

Which agent entry point is used when running a virtual fire drill for a specific resource?
A. info

B. online

C. monitor

D. action

Correct Answer: D

QUESTION 12

Which two tasks are performed by the Veritas Cluster Server DiskGroup agent? (Choose two.)
A. It optionally mounts file systems and volumes.

B. It sets all diskgroups to autoimport=no.

C. It sets only the defined diskgroup to autoimport=no.

D. It automatically discovers SCSI-3 disks.

E. It uses vxdg commands to verify the diskgroup is onine.

Correct Answer: CE

QUESTION 13

Where is the sysoffline trigger executed if a node goes into a jeopardy state or leaves the cluster?
A. on all nodes in the cluster regardless of state

B. on the node that goes offline by entering a jeopardy state or leaving the cluster

C. on all the nodes in the cluster that are still in a RUNNING state

D. on the lowest numbered system in the cluster with a RUNNING state

Correct Answer: D

QUESTION 14
Which service group dependency type supports two applications being online on any system in the cluster?
A. parallel

B. global

VCS-260 VCE Dumps | VCS-260 Study Guide | VCS-260 Braindumps

6/7


https://www.passapply.com/vcs-260.html
https://www.passapply.com/vcs-260.html
https://www.passapply.com/vcs-260.html

VCE & PDF https://www.passapply.com/vcs-260.html
2024 Latest passapply VCS-260 PDF and VCE dumps Download
PassApply.com

C. local
D. remote

Correct Answer: B

QUESTION 15

An administrator wants to configure an HA fire drill for a service group in an existing cluster. Which two behaviors should
the administrator expect? (Choose two.)

A. The fire drill uses the Action function associated with the agent.

B. The fire drill clones the service groups in the cluster.

C. The fire drill uses virtual IP to test the failover of service groups.

D. The fire drill requires an additional license installed on each node of the cluster.

E. The fire drill detects discrepancies between the VCS configuration and underlying infrastructure.

Correct Answer: BE
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